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That he stole his friend’s couch — 79277 20wn 9T

OVERVIEW

727 defends his view that °3p ww°. The exclusion of 7737 X9 1127 cannot be
referring to 772 91 (as *2X maintained) but rather to 727p PR compares the
exclusion of 11277 to the exclusion of 120wn; just as the exclusion of 120wW» cannot
mean (even according to *°aR) that 131 X7y 91, but rather 77207 20wWn 913, So too
the exclusion of 11277 does not mean 732772 913, but rather an actual 72p. There is a
dispute between *"w1 and ModIN as to the meaning of 177217 20WH 71,

= 99520 DY 999 25UN 9919 I8V ZV‘)\D”‘pﬂ VIV TINN yavn
It seems from the context of >''w+9’p that he intends to say that the term 25wn

17217 means a finished couch of his friend, and in that case -
- 311)9’3‘\ N NN 2ININ NHITHT 20WN NNLVN PPN 9% ON

If the 21 stole the 20wn it is not 25w X»w» for it is a 2''771913 that a 917 20wWn
cannot become an X2V AX. MBOIN comments, and this interpretation (that a
finished stolen couch cannot be 20wn Xnwvn) is astounding!

mooIn asks an additional question:
= 112D 10395Y 0533 23X (i 179) MINVAT DINND 12 IRINY 13939D NYP TV

And the 2''2w9 has an additional difficulty; for in n97w noon, concerning

thieves that entered a house -
= NV Y91 YN IN 29 DHNY VI ONY DIV 43‘\12\’)”31 Maovnn Pn

The mwn teaches: The m2>wn and the mawn are 997Y; we do not assume that
the thieves were 0°21, however if there were among the thieves a gentile or a

woman, then everything is X%W. This concludes the mwn. mooIn explains -
= 19924 DY 219 %9 NN N1 NNV 9

for perhaps the woman is a 1773, and a gentile is considered a 2t regarding all

matters. A 771 and a 21 are 2wIM 20Wn X1YA to be an XMV AN,
= 19Y PRY AW 25WN NNVNY ¥HYN

It is apparent from that 71wn that one can be R»un a 2wy 2own which is not his;
for they are thieves (nothing in the house belongs to them) and nevertheless the 2wy 20wn

Y1t 11217 is referring to wnn 11277 then there is no challenge to 727 from this P10, See 71a7 7"7 >"w.

* See 21 1"7 *"w1 who states that it is a 23377 N1 that a 91137 25w cannot become an 7RIV XK.

3 We do not find in 0" (concerning 21 n&mw) any difference whether the 2w 22wn belong to him or not.

* maown are items on which people lie such as a couch or bed, n1aw are items which one sits on, such as a chair or
a bench.
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become Xnv.

mooin offers a solution:
- 51):1‘1‘1): onNnNT MNTY YU 1719

But perhaps it is possible to thwart this question, for in that 71wn the I8 is
only J1297%; however Xn»7IX77 it is possible to maintain that a 2137 25w is not XawA.

mooIn presents a new difficulty on >"w5:
= 1929 PYNIY 2297 RNNDD NDY I (ynsn nwas omna nmnz) ONNT NYP TV

And there is an additional difficulty for there (concerning the T»°% of X7 120wWn

271377) he cites the argument between 127 @' -
- 29300 N NI SINY 9199 911N KDY 139U OND RN 297) 71021 ) 24

concerning a J2T3 213 which the X3 here will cite shortly. And this is how it is
cited there: 137 X1 12own»; one may think that I should exclude a 2113 as well

as a 713, the oo -
= NNV 9999 1IN

teaches us by saying X%t to include a 2137 20w that it is Xav.
= [NV 9219 TINDN 1N NNX NOYIM PINY 7152 290N NI 125VNI 9N )I¥NIY *a9]

[w''2 maintains the opposite, the P109 teaches 21137 X®Y 125wna, I may think to
exclude a 913 as well, therefore the P05 teaches us by saying X»w that a 21137 20w

is ®nv]. The o7mon -
= 7% HN NONINDY AT NN $H29Y IR 191919 1IN

Said to v"; ‘and what did you see to include this one (the 7113) and to exclude

the other (21137)?” w" replied -
- 8’719 99991 ©°Y¥2N YNNIV IR NN 1IN N9 VYN 2NN NIV NN

Since the o2 included (with the word X»v) and excluded (with 120wn), I include

these cases where the owner despairs from retrieving them, etc. this concludes the
citation from the 3"n.

Mmoo continues with his question:
= YRYN 1929 PYNRY 2297 XN NDY I5919710)

> It is reasonable to assume that the 72w there is discussing only 132775 fxmw, for the thieves are Xnun if there was a
°1v1> among them. The aXn1w of a *1v13 is only 112777.

6 2113 is when it was stolen stealthily by a thief, while 23 means that it was taken brazenly by a robber.

7 Shortly the X3 cites a nPY2rn between 13271 " concerning 7Xm through 72wnn by a 12131 213 The issue there is
when is 2°7¥2 wR* more likely; by a 213 or a 1213, The 0°n51 maintain that wX> is more likely by a 213 while w"
maintains that 2> is more likely by a 771,

8 Where the owners are Wx»n» it is considered 125wn of the 31 and it is Xnvn; however were the owners are not WX nn
it is not 120wn of the 21. 1327 w" disagree where there is WX by 2113 or 1.
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And since he cites the argument between 3127 @''3 by the ruling of &%) 125wn
511, this would indicate

= INNNVN NAYNN PRT OIVN QYL MDY
That the reason why 120wn excludes a [213] 713 is because the intention of the ar

cannot make the 20wn into a utensil which is 7R@ 52pn -

- TIN5 197 YW HINS PRT T7INDaT XONN
Just like that case which will be mentioned shortly where the ruling is that the
designation of the 3913 is not considered a valid designation. It would seem'® that
these two np1onn (concerning 125w» and XNV 7awnn) are similar. The issue is whether the

213/7713 can effect, through his mawnn, that an object be fit to be aRmw %apn. But not as >"'wA
maintains that the issue is whether a 7123 20W» can become Xnv.

mooIn offers his explanation:
= 199307 25WN DT PNYY 13929 WYY

And the "' explains that 799277 22w 13 means -
= INY RIN 1P90INM 1INV N3N J¥a DY MY HHv

That he stole hides from the owner that were only lacking designation to turn
them into a 2own -

- NAYNM P9 90N PR PPN DIY 98 PNY
And it required no improvement to make it into a 2ow», and it was only lacking
the thought and intent to designate it as such, which the 1213 did.

mMdoIN continues to clarify the comparison of 125w» to 117p:"!
= 199307 1299 T NOIIT P9 MM

And the case of 717 X721 120Wn can be properly compared to the case where he

stole his friend’s 339?; in both cases no further physical improvement is required to bring it
to its final desired status (whether a 279 or a 20wn) —

? The case there is where the 213/7913 designated an unfinished piece of leather (which he stole) as a tray or bed
(where if the owner would designate it so, it would be nXmv 92pn since it is NIROM 779331 through his 72wnn); the
designation is effective only if we assume 2°9v2 WX (according to the 2151 by a 213 and according to W' by a 1213).
"1t is possible to assume that the np1>ma by 122w is concerning a I3 20wn (as *"w1 maintains) and they are arguing
when WX is 1P (so that it is considered 120wn). However the similarity suggests that it is a parallel nponn
concerning 71 1AWAA.

' 7127 in his '7myuY’ argues that just as 120wn is referring to (stealing) a 29w» not Xy, so too 11277 is referring to
(stealing) a 727p not a 7M. According to *"w1 that 125Wn means an actual 20w, it is understood that 11277 means an
actual 127p. However according to mooin that 120wn refers to MMy that require a process of 717> to make it into a
2own (it is not a 73 20wWn yet), then why should we assume that 13127 means a wn» j27p, perhaps it would be more
appropriate to assume that it means a 772 which merely requires a mawn» to be w>7pn it for a 127p, just as the MW
require a 7AW to make it into a 20wn. N1BOIN will now explain why only (stealing) a 7277 is similar to 120wn; not
(stealing) a 2.
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mooIn explains that only 3277 213 is similar to N 913, but not 772 71a:
= 999) AYYN 901NN 1 NN DT AVITP NIDINKY PHIN DY NNNa Y HrYH oxY

For if he steals a 172772 that is 397 which is lacking 72179 (then even though it is
not lacking any physical change, nevertheless) this would be like it is lacking a

physical change. It cannot be compared (even) to MW 913 (and certainly not to 2own 21
TIm3), but rather the case of 1711 %W 7n72 213 would be -
= 20VN D72y N9y Pyo

Similar to stealing wool and making it into a couch, where everyone agrees that it is

considered 120wn (and is aR™W 72pn), similarly if 1211 5w 702 913 and was WoTpn it after wN it
would be a valid 1279 (according to 727).

mooIn explains that 121 could not have meant that he actually stole a 20wn: "2
- Pxaby 29199 25U NNLN N>92NT H) 25UM 233 IN Y1) Yan

However if he robbed or stole his friend’s finished couch, everyone agrees that

it is 25w N, This is not what 2137 821 120Wn is coming to exclude, rather it is excluding
that the 72wn» of the 213/1713 cannot turn hides into a couch.

mooIn anticipates a difficulty in the comparison of 125w to 1127p:
- B NP 99X DITNN XY 1OYN T 2) DY 9N)

And even though that this teaching of a7 XY 120wn is discussing a situation

before the owner was wWRYn» -
= VIN? 992 9N *9N 90 XYY NPT ITM

And this case of 9137 891 139p is discussing even if it took place after 2Ny, so
how can 7727 compare the two?"
£ DT NMT PNT 2) DY N TOPNY PN

One should not be particular concerning this even though that they are not like
each other, nevertheless the comparison is valid. maon does not explain why 79pr% 1r.'

2 The advantage would be that then it is exactly the same as 1277 213 (see previous footnote # 11).

" See “Thinking it over’ # 2.

' According to *"wA there may be no difficulty, for it is possible to maintain (according to qo 27) that X% 120wWn
27 excludes even wiR® X%, However according to miooin the exclusion of 71 X721 120w is only before wive, for
2 is definitely not excluded since by 21 there is the assumption of wIX> (and the reverse is true for w"9). See
‘Thinking it over’ # 1.

' The question may be that perhaps we can compare the exclusion of WW> a7 2ow» (which has one positive that it
is not 7wyn 101» and one negative that it is WR> a7) to the exclusion of WIR> IRY AW>TPM 7172 213 (which also has
one positive, it is > X? and one negative, it is Twyn 101M) and not necessarily to 127p 713 (the way 721 would
have it). This would seemingly negate the "7°"nyv?1' of 7an.

' The (simple) explanation may be that we derive from 71 891 120wn that the exclusion refers specifically to the
term the 71710 uses; in the case of 120wn to a 25wn (albeit MMy which are ready to become a 20wn) and in the case of
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SUMMARY

According to (m201n understanding of) >"wA the term 7°712177 20w, means an actual
couch. There is a "7 that a 27 cannot be Xnvn a stolen item with 20wn nRMAIY.
mooIn rejects this idea and maintains that he stole leather which can be designated
as is (by the owner) as a 20w (but not by the 1713).

THINKING IT OVER

1. According to Mmoo that the P05 of 21 K71 125wn is only when there is no
wix,!” however when the owners are Wx»nn the a1 acquires the item through wX>;
why did not 2R ask a straight contradiction between the ¥n*72 of 917 X9 1127p
(which according to ax indicates that °3p X? w°) and the mwn of MW (that
maintains 17 w%°)?'"® Alternately why did not »2x challenge 701 27 from the X012
of 125w»n which cites the np17mn between 31127 w1 and where all agree that IR
anp?t

2. According to MdOIN a a7 is Xnun a (M) 22Wn even if it is not his.*’ 727 argued
that if 20wn X721 XY 91 then everyone will agree the nwyn "W is mp.
Seemingly what is the relevance of 7wyn "°w; even if AwWYnN MW is not 7P, the 27
will be Xnvn this 20wn, since according to MdYIN there is no need for the 27 to
acquire the 20wn?!*!

3. What are the relative advantages of *"w7°5 and m»doInT w170?

11297 to an actual 127 (not a %72 which is 7wWYn 101 to become a 127P).
17 See footnote # 14.

18 See HxMW NIRON.

19 See 2"71m and (136 7wi) 7"MX.

20 See footnote # 13.

I See (138 i) 7"nx and n"ma.
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